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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Câu 1: 
A. medals
B. efforts
C. nations
D. depends
Câu 2: 
A. diversity
B. situation
C. inhabitant
D. particular
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Câu 3: 
A. extinct
B. danger
C. preserve
D. survive
Câu 4: 
A. excessive
B. emigrate
C. immigrate
D. dangerous
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Câu 5: What would Tom do if he ......... the truth?


A. knows
B. had known
C. knew
D. would know
Câu 6: Most developing countries are in ......... of capital and technical assistance.


A. lack
B. shortage
C. excess
D. need
Câu 7: By the time the boy went home, someone ......... his bicycle.


A. is taking
B. was taking
C. had taken
D. took
Câu 8: Frankly speaking, your daughter does not take ........ you at all.


A. after
B. up
C. along
D. over
Câu 9: Her name is Linda, ..........?


A. is she
B. isn't it
C. is it
D. isn't she
Câu 10: In the past, women were economically ......... on their husbands or fathers.

A. expected
B. reliable
C. dependent
D. demanded
Câu 11: Mary did very badly on the exam. She ......... harder.


A. should have studied
B. must have studied
C. must be studying
D. could have studied
Câu 12: I am quite keen on my father's valuable stamp ......... .


A. collection
B. collect
C. collecting
D. collector
Câu 13: I .......... the soap, so we need to buy some more.


A. turned up
B. used up
C. set up
D. looked for
Câu 14: He congratulated the team ......... all their games.

A. for their winning
B. to win
C. on having won
D. winning
Câu 15: I don't think we should ......... a decision yet; we should wait.


A. make
B. take
C. create
D. do
Câu 16: The …………blew his whistle, and the game was over.


A. goalie
B. player
C. captain
D. referee
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Câu 17: The government decided to pull down the old building after asking the ideas from the local residents.

A. demolish
B. purchase
C. renovate
D. maintain
Câu 18: I shouldn’t go outside without a raincoat because it’s raining cats and dogs.

A. it’s raining very heavily
B. it’s just started to rain

C. it’s going to rain
D. it’s drizzling
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Câu 19: Many people feel nervous when they first make a speech in public.

A. upset
B. fearful
C. impressed
D. confident
Câu 20: Susan broke her promise when she failed to return the book I had lent her.

A. had an appointment
B. kept her word
C. lost her friend
D. kept to herself
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.
Câu 21: Two friends Stephanie and Scott are preparing for their first lesson at school.

Stephanie: "Oh, no! I left my book at home. Can I share yours?"

Scott: "........ "


A. Yes, I do too.
B. No, not at all!
C. Yes, sure!
D. No, thanks.
Câu 22: Mrs Smith and her students are visiting the zoo.

Mike: "Can I feed the gorilla, Mrs Smith?"

Mrs Smith: " ......... . The sign says 'No feeding the animals'."

A. Of course you can
B. I'm sure about that
C. I don't think it works
D. I'm afraid not
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Câu 23: The delicious of chocolate depends not only on the quality of the cacao but also on a
                           A                                                                       B                                   C 

complex process of grinding, heating and blending.
                      D 

Câu 24: Only when she read her father’s diary, she realized that it was her mother, not her
                                          A                                          B                      C 

father, who was at fault.
             D 

Câu 25: Sleeping, resting, and to drink fruit juice are the best ways to care for a cold.
                   A                                  B                  C                      D 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 26 to 30.

What is the most popular sport in the world? Most people would probably say soccer, because of the many millions who play it and the even __( 26 )__ number who watch it on television. There are some, however, who say the correct answer is basketball - not because of its TV audience, __( 27 )__ is certainly smaller than that for soccer, but because the number of people who regularly play the game might be higher (at least 300 million, according to most estimates).
In China, for example, which has a __( 28 )__ of 1.3 billion, more people play basketball than soccer, and it is becoming more popular all the time. Basketball has existed for less time than some of the world’s other major sports. It was __( 29 )__ in the early 1890s by a Canadian, James Naismith, working at a college in the state of Massachusetts in the United States. Wanting to create a game that could be played indoors __( 30 )__ the long winters but would also be active enough to keep people in shape, he had the idea of two teams of players trying to throw a ball into a basket that was above their heads.
Câu 26: 
A. longer 
B. taller
C. smaller
D. larger 
Câu 27: 
A. which
B. who
C. where
D. that
Câu 28: 
A. calculation
B. nation
C. generation
D. population
Câu 29: 
A. recorded
B. discovered
C. invented
D. surveyed
Câu 30: 
A. among
B. along
C. during
D. within
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 31 to 37.
The greatest recent social changes have been in the lives of women. During the past decades there has been a remarkable shortening of the proportion of a woman’s life spent in caring for children. A woman marrying at the middle of the 20th century would probably have been in her early twenties, and would be likely to have seven or eight children, several of whom lived till they were only five years old. By the time the youngest was fifteen, the mother would have been in her early fifties and would expect to live a further twenty years, during which customs, opportunities and health made it unusual for her to get paid work. Today women have fewer children. Usually a woman’s youngest child will be fifteen when she is forty-five and can be expected to live another thirty-five years, and is likely to take paid work until retirement at sixty. Even while she has the care of children, her world is lightened by household appliances and convenience foods.

This important change in women’s life-pattern has only recently begun to have its full effect on women’s economic position. Even a few years ago most girls left school at the first opportunity, and most of them took a full-time job. However, when they got married, they usually left work at once and never returned to it. Today the school-leaving age is sixteen, many girls stay at school after that age, and though women tend to marry younger, more married women stay at work at least until shortly before their first child is born. Very many more afterwards return to full- or part-time work. Such changes have led to a new relationship in marriage: with the husband accepting a greater share of the duties and satisfactions of family life, and with both husband and wife sharing equally in providing the money, and running the home, according to the abilities and interests of each of them.
Câu 31: According to the passage, it is now quite usual for women to ……… .

A. start working again later in life
B. marry while still at school

C. marry men younger than themselves
D. stay at home after leaving school
Câu 32: It is stated in the passage that in an average family in about 1950 ……… .

A. the youngest child would be fifteen

B. seven or eight children lived to be more than five

C. many children died before they lived to more than five

D. four or five children died when they were five
Câu 33: The word “which” in the first paragraph refers to ……… .


A. opportunities
B. twenty years
C. health
D. customs
Câu 34: What does the word “lightened” in the first paragraph probably mean?


A. harder
B. less heavy
C. brighter
D. more fun
Câu 35: One reason why a woman today may take a job is that she ……… .

A. can retire from family responsibilities when she reaches sixty

B. need not worry about food for her children

C. is younger when her children are old enough to look after themselves

D. does not like to have a lot of children herself
Câu 36: Nowadays, a husband tends to ……… .

A. feel dissatisfied with his role in the family
B. play a greater part in looking after the children

C. take a part-time job so that he can help in the home
D. help his wife by doing much of the housework
Câu 37: What is the main idea of this passage?

A. Women’s role in family life.
B. The marriage of women: past and present.

C. The social changes in the lives of women.
D. Women and their jobs.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 38 to 45.

Political and family values within society have impacted upon the modern family structure. Traditionally, it has been the man’s role to be the breadwinner for the family- providing the funds to pay for food and shelter. However, due to the many new and unique responsibilities placed upon families, in numerous cases both men and women- fathers and mothers- have had to enter the workforce. Generally, the reasons for both being involved in the workforce revolve around the need to add to the family’s current financial base. To a lesser extent, the need to interact with “adults” in a stimulating work environment is another popular reason. Whatever their reasons, for many families, the decision for father and mother to go out of home and join the labour force has led to a number of side effects within the home which, in turn, impact upon their performance as employees.

Many researchers agree that attitudes towards work are carried over into family life. This spillover can be positive or negative. Positive spillover refers to the spread of satisfaction and positive stimulation at work resulting in high levels of energy and satisfaction at home. If the amount of research is to be taken as an indication, it would seem that positive spillover is not a dominant occurrence in the workplace with most research focusing on the effects of negative spillover. Often pointing out the incompatible nature of work and family life, the research focuses on problems and conflict at work which has the effect of draining and preoccupying the individual, making it difficult for him or her to participate fully in family life.

Social scientists have devised a number of theories in an attempt to explain the work-family dynamic. Compensation theory is one which has been widely used. It assumes that the relationship between work and family is negative by pointing out that high involvement in one sphere- invariably the work sphere- leads to low involvement in the other. As an individual advances within a career, demands typically fluctuate from moderate to more demanding and if the advancing worker has younger children, this shift in work responsibilities will usually manifest itself in the form of less time spent with the family. Researchers subscribing to this theory point out that the drain on family time is significantly related to work-family conflict with an escalation in conflict, as the number of families increase.

Câu 38: The main reason fathers and mothers join the workforce is …….. .

A. they want to be able to retire comfortably

B. they need extra money

C. they need the mature interaction that goes on between adults

D. they want to escape the boring environment of home
Câu 39: The word “breadwinner” is closest in meaning to ......... .

A. bread
B. earner
C. winner
D. bread maker
Câu 40: The word “draining” is closest in meaning to ......... .

A. make somebody stronger
B. empty
C. waste
D. make somebody weaker
Câu 41: The word "it" in the third paragraph refers to ......... .

A. Compensation theory
B. spillover
C. family life
D. work-family
Câu 42: The following are the reasons why the fathers and mothers both go to work EXCEPT ......... .

A. the need to work to earn money

B. the need to add to the family’s current financial base

C. the need to interact with “adults” in a stimulating work

D. the need to show the ability of working
Câu 43: The following are true EXCEPT ......... 

A. The modern family structure has been affected by political and family values.

B. The advancing worker who has younger children spends more time with the family.

C. The spread of satisfaction and positive stimulation at work result in high levels of energy and satisfaction at home.

D. On the past, man earned money to provide the funds to pay for food and shelter for his family.
Câu 44: According to the passage, positive spillover ......... .

A. assumes that the relationship between work and family is negative

B. is only a positive attitude toward work

C. is the conflict at work

D. refers to the spread of satisfaction at work resulting in high levels of satisfaction at home
Câu 45: What is the main focus of this passage?

A. Roles of husbands in a family
B. Relationships between family and job satisfaction

C. Relationships between work itself and job satisfaction
D. Positive attitude to work
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Câu 46: The Prime Minister set up a committee of financial experts. They were to help him discuss and formulate new policies.

A. The Prime Minister, who is a financial expert, set up a committee to discuss and formulate new policies.

B. A committee consisting of financial experts was set up by the Prime Minister to help him discuss and formulate new policies.

C. A committee consisting of financial experts who were helped by the Prime Minister discussed and formulated new policies.

D. The Prime Minister, who was helped by financial experts, set up a committee to discuss and formulate new policies.
Câu 47: Everyone was watching the little dog. They were greatly amused at it.

A. The little dog was watching everyone with great amusement.

B. Everyone felt great and amused when the little dog was watching them.

C. Everyone was greatly amused at the little dog they were watching.

D. The little dog was greatly amused by the way everyone was watching it.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following sentences.
Câu 48: People believed that he won a lot of money on the lottery.


A. He was believed to win a lot of money on the lottery.

B. He is believed that he won a lot of money on the lottery.

C. He won a lot of money on the lottery, it is believed.

D. He is believed to have won a lot of money on the lottery.
Câu 49: I’m having a lot of trouble now because I lost my passport last week.


A. If I didn’t lose my passport last week, I wouldn’t have had so much trouble now.

B. If I didn’t lose my passport last week, I wouldn’t be having so much trouble now.

C. If I hadn’t lost my passport last week, I wouldn’t be having so much trouble now.

D. If I hadn’t lost my passport last week, I wouldn’t have had so much trouble now.
Câu 50: When she received the exam results, she immediately phoned her mom.

A. She received the exam results immediately after she phoned her mom.

B. She immediately phoned her mom that she would receive the exam results.

C. No sooner had she phoned her mom than she received the exam results.

D. No sooner had she received the exam results than she phoned her mom.
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